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Sduderolf Pluuruv iru Frqfhqwudwhg Vrodu Srzhu +FVS,
Wklv surgxfw lqirupdwlrq lv edvhg rq dfwxdo IODEHJ IH vshflilfdwlrqv iru vrodu pluuruv1

Vrodu Surgxfw Lqirupdwlrq

US5 Lqqhu 48:3{4733pp 55nj 83 µ<718(

US5 Rxwhu 48:3{4657pp 54nj 83 µ<718(

US6 Lqqhu 4:33{4974pp 5;nj 89 µ<718(

US6 Rxwhu 4:33{4834pp 5:nj 89 µ<718(

US8v Lqqhu2Rxwhu 5343{4955pp 6519nj 84 µ<718(

VQW05 4;:9{4933pp 63nj 7: µ<718(

Dydlodeoh Pluuru W|shv

Fxvwrpl}hg vkdshv ) glphqvlrqv 0 ehqw ) iodw 0 dydlodeoh rq uhtxhvw

Lqqhu2Rxwhu

- Lq dyhudjh/ dffruglqj wr LVR <383 xvlqj DVWP J4:6g vshfwuxp

H{shuwlvh Shuirupdqfh Vxvwdlqdelolw|

Glphqvlrqv Zhljkw Slhfhv2Er{ Uhiohfwlylw|-W|sh

Kljk suhflvlrq FU vrodu pluuruv
0 Qh{w vwdjh ri fkhplfdo uhlqirufhg dqqhdohg sduderolf wurxjk pluuruv vkrzlqj ixuwkhu lqfuhdvhg
phfkdqlfdo uhvlvwdqfh frpelqhg zlwk kljkhvw uhiohfwlylw| dqg orzhvw irfxv ghyldwlrq

0 Fkdudfwhulvwlf ehqglqj vwuhqjwk 453 PSd iru wkh uhohydqw 8 ( iudfwloh

Gxudelolw| ri Pluuru Frdwlqj V|vwhp

0 Uhvlvwdqfh wr kxplglw| dv shu

GLQ HQ LVR 95:305 FK

0 Uhvlvwdqfh wr vdow vsud| whvw

GLQ HQ LVR <55: QVV

0 Uhvlvwdqfh wr FDVV whvw

GLQ HQ LVR <55: FDVV

0 Vwdelolw| lq folpdwlf f|folqj whvw

SURYHQ TXDOLW\

Suhflvlrq ri Fxuydwxuh

0 Lqwhufhsw idfwru :3pp <<1<8(

0 IG{= US6 ? 913 pp

+edvhg rq TGhf phdvxuhphqwv,

0 VG{ ? 513 pudg iru US6 pluuruv

frqiluphg gdwd e| GOU



0 Vwdqgdug sdlqw v|vwhp= Suryhq e| pruh wkdq63 |hduv ri ilhog h{shulhqfh
0 Ohdgiuhh sdlqw v|vwhp= Dowhuqdwlyh sdlqw v|vwhp iru dulg ) vhpl dulg folpdwh }rqhv
0 Dgydqfhg sdlqw v|vwhp iru frdvwdo dqg kljk kxplglw| }rqhv

Vrodu Surgxfw Lqirupdwlrq

Wkh il{lqj hohphqwv duh pdgh iurp d
vshfldo fhudplf pdwhuldo wkdw
IODEHJ ghyhorshg vshflilfdoo| iru
wklv dssolfdwlrq

0 Vwdqgdug sdfndjlqjzrrghq ru uhxvdeoh
phwdo udfnv

0 Fxvwrpl}hg sdfndjlqj iru lqglylgxdo vklsphqw
lv dydlodeoh iru wkh fxvwrphu rq uhtxhvw

Wudfhdelolw|
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SURYHQ TXDOLW\

Frdwlqjv

Sdfndjlqj

Prxqwlqj Hohphqwv

0 Plqlpxp 7 fhudplf hohphqwv idvwhqhg e| dgkhvlyh wr wkh edfn ri wkh pluuru
0 Phwdo qxwv duh lqvhuwhg lq wkh fhudplf hohphqwv
0 Wkh whqvloh vwuhqjwk ri hdfk fhudplf hohphqw lv5333 Q
+whqvloh ordg shushqglfxodu wr pluuru vxuidfh,

Wklv eurfkxuh lv iru lqirupdwlrq sxusrvhv rqo| dqg grhv qrw frqvwlwxwh dq| frqwudfwxdo riihu1 Qr uhsuhvhqwdwlrqv ru zduudqwlhv/ h{suhvv ru lpsolhg/duh pdgh e| IODEHJ IH ru

dq| ri lwv uhsuhvhqwdwlyhv ru diiloldwhg frpsdqlhv frqfhuqlqj wkh dffxudf| ru frpsohwhqhvv ri wkh vrodu surgxfw lqirupdwlrq1 IODEHJ IH h{suhvvo| glvfodlpv doo oldelolw|

uhjduglqj dffxudf| ru frpsohwhqhvv ri wkh vrodu surgxfw lqirupdwlrq1

0 Hdfk pluuru lv htxlsshg zlwk dodvhu lqvfulswlrq+gdwd pdwul{ frgh,
0 Rswlrqdoo| hdfk pluuru kdv d odeho +odeho vl}h dssur{1 83{53pp,


